
SAP ABAP table N2HIT_LI_EN {HL: Findings Hit List: Assignment: Entry - Hit List}

N2HIT_LI_EN

MANDT [CLNT (3)]

RELATION_ID [CHAR (32)]

IS_CUSTOMR_ENTRY [CHAR (1)]

LIST_ID [CHAR (15)]

INSTITUTION [CHAR (4)]

ITEM_ID [CHAR (32)]

PARENT_ID [CHAR (32)]

ORIGINAL_RELATN [CHAR (32)]

 N2HIT_LI_EN-ORIGINAL_RELATN = N2HIT_LI_EN-RELATION_ID 
0..N0..N

 N2HIT_LI_EN-PARENT_ID = N2HIT_LI_EN-RELATION_ID 

0..N0..N

N2HIT_ENTRY

MANDT [CLNT (3)]

ID [CHAR (32)]

CUSTOMER [CHAR (1)]
 N2HIT_LI_EN-ITEM_ID = N2HIT_ENTRY-ID 0..N

0..N

N2HIT_LIST

MANDT [CLNT (3)]

ID [CHAR (15)]

INSTITUTION [CHAR (4)]

 N2HIT_LI_EN-LIST_ID = N2HIT_LIST-ID 
0..N

0..N

T000

MANDT [CLNT (3)]

 N2HIT_LI_EN-MANDT = T000-MANDT 

0..N

0..N

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 N2HIT_LI_EN-INSTITUTION = TN01-EINRI 

0..N

0..N


